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207 A EH] 530,000 530,000
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20,000,000 20,000
oflB1Hl 33,459,549 18,232,575 15,226,974
olglgi(ollater g2t 33,459,549 18,232,575 15,226,974
oflb1Bl 33,459,549 18,232,575 15,226,974
801 ofiblbl 33,459,549 18,232,575 15,226,974
01 &eroiibll 33,459,549 18,232,575 15,226,974
ooiiglyl 33,459,549,000H 33,459,549
Y =S Y 441,924 431,924 10,000
Jl=ZHI(0latE e ) 71,924 71,924 0
FAE3 71,924 71,924 0
201 £er2aY| 43,286 43,286 0
01 Ak 2teltl 43,286 43,286 0
OFAN=E+8Hl 21,782,000 21,782
OJizgs-8 =&l 21,504,000 21,504
202 Ot 17,238 17,238
01 2LH0L 17,238 17,238
OJl=g =4 ol 17,238,000& 17,238
208 BF =2l 11,400 11,400
010|228 g 2| 6,600 6,600
OMEI|1= 2 6,600,000 6,600
04 AL 4,800 4,800 0
OFAEIERFA| 4,800,000 4,800
ZA2E J|=223 370,000 360,000 10,000
ZHEY Bl 370,000 360,000 10,000
201 LeH2 3| 220,000 220,000 0
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OFoildt Htz2e(352HI)
100,000,000& 100,000
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H & 0l & AHS B Ml A

s HHOIHSIA
= A WEEelgwe
ooz HENE LR
ARS| - A - HB - O9I(3]H) - MRAY - BES ofl v e HDS2
EEE e, 929,320,315 832,879,270 9,441,045
2 2 WEXL 851,737,833 764,707,790 87,030,093
XX WX 822,722,556 736,304,413 86,418,143
EEEFCEIEE 822,722,556 736,304,413 8,418,143
308 XEXIEHHI SOI 822,722,556 736,304,413 8,418,143
RREESEE 822,722,556 736,304,413 8.418,143
OXX 7 ZHDLS(NBHEE)
818,784,356, 0002 818, 784,35
OUMA EZDTS(NBEEE)
3,938,200, 0002 3,938,200
2 W 29,015,327 28,403,377 611,950
WEENDEE 29 29,015,327 28,403,377 611,950
308 XEXIEHHI SOI 29,015,327 28,403,377 611,950
04 Al 2EZDEZ 23,575,575 22,764,492 811,083
OZ ZHBPS(ABHEE)
23,575,575,0002 23,575,575
06 Al - 2IIEHHRZ | 5,430,752 5,638,835 £199,133
OZ NAMBALA DFS (0B =E)
5,439,752, 0002 5,430,752
R 100,362 14,5 £44,230
AFWH DI 75 00,362 144,592 A44,230
HE2E e 23,386 9,386 AT72,000
201 et | 8,250 80,250 AT72,000
01 AFR 22| 8.250 80,250 AT72,000
0212 aopes 2y 2,250,002 2,250
O=HIAY 29AAE S sloiRz ROl
6.000,0002! 6.000
202 01| 2,13 2,13
NETEE 2.1% 2,13
OB 2 NS BSEL 28
2, 136,000% 2.13%
203 P E | 13,000 3,000
P ESSISEEST 13,000 3,000
OXZME 2 WY =2 =7
10,000, 0002 10,000
OXgHRR2 L NAHLIIS PEX
3,000,002 3,000
FERRA 82X 29 67.376 39,606 27,770
308 XEXIEHHI SOI 67.376 39,606 27,770
11 2| 2HSOICHE S AR 2 EALIH| 67.376 39,606 27,770
OXL DN HES A 223
67,376,002 67.376
XA AR 9,600 9,600 0
201 Yer2 | 9,600 9,600 0
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01 At2t2ltl 9,600 9,600
OMEERAANSARS 51929 U FA+E
7,200,000& 7,200
ORI ERAS 2 o2 € &4
=g 2,400,000& 2,400
23018 el 186,550 174,430
AgsI1g 2l 186,550 174,430
ANg3I18 =X 17,950 14,700
201 Let=23 | 4,500 4,500
01 AtR2te|Hl 4,500 4,500
OEE=bIE Axe =8 298
4,500,000 4,500
203 =4l 3,600 3,600
03 Al =& 3,600 3,600
OXg3aI1g & sz R
3,600,000& 3,600
308 XM S 9,850 6,600
1 312S0l FIETAIZHI 9,850 6,600
OXgSId SS2LAAE A2l
9,850,000 9,850
g2 &t 168,600 159,730
201 fer= 3| 84,270 75,400
01 At 2|l 84,270 75,400
OEXEaA) ?Es HH+Y
5,000,000 5,000
Oogdg8E I 79,270,000 79,270
202 04l 2,580 2,580
01 =LHAHI 2,580 2,580
Ooadg8 2,580,000 2,580
207 AR 21,750 21,750
01 S| 21,750 21,750
OE&Xt - 2997 =L 2 F8: &M
= 21,750,000 21,750
306 EH= 60,000 60,000
01 9= 60,000 60,000
OXgso1g £03
60,000,000& 60,000
HH =23 47,142 48,948
JlE3dl(HE2elg 47,142 48,948
fA2EH| 47,142 48,948
201 223 35,836 37,304
01 AtR2t2lt] 30,836 32,304
ORN2g=3HI 12,088,000 12,088
OJ|2gf=8 S| 8,560,000& 8,560
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2 M HE2AIGER
& M dy¥=3Z EER=E)
ARS) - A - FH - GI(S1H) - HRAY - BES Ol &t e Hlm=2
Oxtgraxts 10, 183,000& 10,188
2 s5=34l 5,000 5,000 0
OXgsA2eltl S 5,000,000& 5,000
202 04l 7,106 7,444 A3B
01 =LH0d 7,106 7,444 1338
OJl=gR==d 0| 7,106,000& 7,106
203 BR=H] 4,200 4,200
M EASHLRFAH 4,200 4,200
ORAM2EER=2] 4,200,000& 4,200
Hees(Hazegg) 77,248,378 67,803,510 9,444,868
WEHAHXIE 77,248,378 67,803,510 9,444,868
IISdE=2 46,200,000 44,700,000 1,500,000
RIIsdES 46,200,000 44,700,000 1,500,000
UIPIErSE== 46,200,000 44,700,000 1,500,000
OXgHaes dEa
46,200,000,000& 46,200,000
tl== el 4E 31,048,378 23,103,510 7,944,868
705 O~ RCIS A 31,048,378 23,103,510 7,944,868
03 Al - EXISHED IS0~ SE 25,433,610 16,931,805 8,501,805
OXNSHEII= U= Bsget
25,433,610,000& 25,433,610
04 Al - SXISLIHL D202 01 AHAHEH 5,614,768 6,171,705 /556,937
OXIgIHEI = Ol== Ol Rt&fat
5,614,768,000& 5,614,768
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JMgE2 114,589, 189 103,006,366 11,582,823

598,761
113,990,428
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1,592,036
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202 04| 3,510 3,510 0
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OXIZAl HIRZAF O1] 3,510,000& 3,510
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oAM= DA 2 3,192,000 3,192
cdBZH(AMRES 2
1,300,000& 1,300
OXgHe+=Y EESFE
2,000,000& 2,000
202 04l 4,050 4,050
01 2LHoIH 4,050 4,050
ON+g g2 =304 4,050
oN2+g HRAT S
1,800,000 1,800
oMo+ 2R E
2,250,000& 2,250
308 XXM SO0IH 40,35 27,764 12,591
3 2SoterdaA2 40,355 27,764 12,591
HENLHA+-LEEAL
g3 40,355,000& 40,355
NE2g Ad 23t 1,156,921 1,438,733 281,812
201 ZBt=Ehl 65,167 73,685 28,518
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